SEAR29F 4y i = X 15
T XATF 4 P EERREA D S AT AN K E o
e R ks @ A o w4 [P PEEERTIBEITOGES
% A = * ® = # ®
VY AR Eeein 50 | 1.1 [ 3.3 6. THE 1. Ofd 1.0
o| #I BB 50 | 1.1 [ 7. OE 1354 6. 9[: 6.9
LIS o Hitd; 50 | L 1[0 2. 5% 3. 560 1. o%l 1.0
B Bk E=PEREIA
1 RS M Py o B A X —#l 10r«'£ 1§ - -
2 LFELIA o i 50 | L1 14h 25 14h 14
B 50 | L1[#H 7.0% 13 6. 9%l 6.9
EFRLIA o Hitkek 50 | 1.1 [ 2. 5E 3. 5[;@ 1. Ol 1.0
xA RER 50 | 1.1 7.0 1350 6. ol 6.9
QECEINGT: 50 | 1.1 [t 2. 5% 3.5t 1. O%f 1.0
7wy i EER 50 | L. 1 7.0f 135 3. 4[;@ 3.4
EFELIA 0 50 | 110 2. 40 3. 10 1. 1E 1.1
JIER EiERwy 50 | L1 W 7,080 13§ 3. 4f 3.4
RaETR 50 | L1l 4. 450 7. 15 1.9 1.9
EFRLIA O it 50 | 1. 1[fE 2. 4% 3. 40 1. 280 1.2
HpEp PGB
1 BEEIR R Py oD B A M X — i 10r@ 15 - -
2 LR o 50 | L1 14k 240 7.8%0 7.8
EFELIA O HiR
1 RERHE A D 5 #REEED HlK 50 | 1.1 [ 8.Off 130 1. Ol 1.0
2 RIS O 50 | 1.1 2.6l 3. 450 1.0[2 1.0
=M ELEIR L
1 BB o B2 A X I —l 13 23— —
2 LELISt oM 50 | Li|f 19 31 14fh 14
YRGB RS B R
1 FEsER B o R F M X —ll 1orm 15 - -
2 LFELh o g 50 | 1.1 |d 14 24l 7.8 7.8
REELIS O I 50 | 1.1[# 3. 3r’@ 6. 7ﬁm 0. 9 0. 9




204 53 i = X °H
T XATF 4 P EERREA D S AT AN K E o
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
& Bk RIEB
1 BEEREUIEL P o B A X —E LEE 18— —
2 LELISl o 50 | L1|f 15 250 7.8 7.8
RELIS O 50 | 1.1 [ 8. O B%IQEIQ
| &3 BEmy
1 BRI PN 0 B A K el 1ypn 200 | —
2 kLo 50 | L[ 20 304t 7. 8% 7.8
EFRLIA o Hitkek 50 | 1.1 [ 8. Ot BLIQ%IH
| TfE [EE 3 2 5w
1 REER s o B s el o13pn 23 | —
2 hEEA o i 50 | L.1|% 19 sy 20 20
RiERW
1 REERE MG o 2 DO — it mF 15 - -
2 hREELLS o> Mgk 50 | L1 14 24t 7.8 7.8
EFRLIA O it 50 | 1.1 [0 8. Ol u%lﬂng
2| 3 EE3 7 7 EHRW
1 REIRE RN o 2 T K —d Leh 14— —
2 LS OIS 50 | 1.1 17H 24 14 14
W FER IR
1 BREEIREME P 0D B T i —d 8. ot 100 —| —
2 RIS O 50 | L[| 11 13k 6. 9%k 6.9
FRLASR o iR 50 Llﬁ4ﬁ%6ﬂLlﬂElﬁ
L| Mg EhE 3 2 SV R URE SRE TR
1 EEEERE ARG P 0 B —EL ospl 32 | —
2 ELS o 50 | L1|f 31 sof 21ff 21
RERLA D BB R
1 BRI PN o B M K el 1ypn 200 | —
2 kLSO 50 | 1.1

F o208 30’%‘@. 7.8l 7.8




R0 5 (EE= S 3E
T KETH A . fPZ EERE A D 5 AT RS
S (TR wass @M m oW g [P ACEERTEECEA RS
U| mge RSO Hl s | Libuaok e odmrd |
& [ESTERELA 50 | L1 7.1 13Eﬁ 6. 9[: 6.9
LERLIA o> Hidsk 50 | 1.1 |4 3. 30 6. 5% 0. 9l 0.9
HBA [ASERCIA 50 | 1.1 [#d 5. 20 8. 4 2. 1[: 2.1
ERLAA o Hirlgk 50 | 1.1 [f#h 2. 500 3. 580 1. O 1.0
#H R 50 | 1.1 [#i 7.1p0 130 6. 9 6.9
_ERRLAS O U 50 | 1.1 [#f 2. 5E 3. 5l 1. Ol 1.
T RETEE EB I R UM TE fR BT VG #5 SFR 10
1 FRACIRSE MG o B HE K —FL 9.7l 120 | —
2 _EFRELISR O H 50 | L1|d 12 18 14 14
ERLIA O RGBT U 50 | 1.1 [#d 8.0
LFRLLA o> it 50 | 1.1[# 2.9
RATH BRIEB 50 | 1.1 7.0
LFRLAS o Hirke 50 | 1.1 % 2.6
Z| & ESPTERTI 50 | 1.1 7.0
RIEBW 50 | 1.1 @ 5.3
LFLLAS o> Hitksk 50 | 1.1 2.6
77| Pl EEH 50 | 1.1 [ 5.9
IGERW 50 | 1.1 [ 5.8
LFRLIS D s 50 | L1} 2.9
ER EER
1 RN o 52 A HE KR e 10rﬁ 15 - -
2 _LELA o Mgk 50 | L.1|9 14F 24 14 14
BRaEmun
1 PREEIRE N o B2 B HE K —l 9.0 11—  —
2 EERRIA oD 50 | L.1|# 11 185 7.8 7.8
ERREAA o i 50 | 1.1 [#f 2. 40 3. 4%0 1.0 1.0
(| PR (=S R EIA




204 53 s ® K 1H
T XATF 4 P EERREA D S AT hEBEE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
| P 1 REEHR B PN 0> B A Hh (X —pE e 200 | —
2 kRIS Hk 50 | 1.1 (% 20 30%E 7.8 7.8
LELIA 0 HE 50 | 1. 1[0 8. ol w%19ﬁ19
i3 P [EE 3 2 SV R OGBS BB R
1 IR MG PN o 2 P b X —H 228 31 | —
2 LFELIA o i 50 | L1 3o 48 21fp 21
RSO RER W
1 BN o B2 A MK —Ft 9.0t 11 | —
2 LR oM 50 | L[ 11F 18§l 7.8%0 7.8
EELIA O Hi 50 L1%2ﬁ%3AL09%oy
Oy B [ oRTER A
1 BRI A PN oD Rl 3 —feoigpn o211 | —
2 bR O IR 50 | L1|F 21F
ERLLASS > i 50 | 1.1 6. 7jl
{F Wil RIERWN 50 | L1 7.0
bFELAA O i 50 Ll%ZﬁE
| =B [ SERAIA
1 BFEREHIRN O R A KR —ft 10Fﬁ 15 - —
2 EERLA O 50 | 1.1|f 14 24580 7.8%( 7.8
ERCLLSR oD Hirksg 50 | 1.1 [#d 8. Off leﬂﬁla
A B EER
1 REEHRBHBIR PN 0> B2 K0 — il MF 18 - -
2 ERCEA s 50 | L1|h 14 25 14 14
LERLIA o Hig: 50 | 1. 1[0 3.3%0 6. 7L 1.0
oy L =it 50 | 1.1 [ 2. 5[ 3. 500 1. Of
K| HE TEE. BA, KRB LEE, A, 50 | 1.1 [Wf 2.6l 3. 4% 1. Off
FEHX
VR BT R AR B UV L3 BT 7
FBW




204 53 s ® K 5E
T XATF 4 P EERREA D S AT hEBEE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
K| Hip 1 REEHREHIE N 0 B A i DO —{it 10rﬁ 15 - -
2 kRIS Hk 50 | 1.1 (% 14 25 13H 13
RS DRIER N
1 EREiR B s Py o 2 R il KO —too.opt 11l | —
2 FEREAAh o Mgk 50 | 1.1|% 1y 18+ 13H 13
EELIA 0 i 50 | L 1[FE 8.0l 130 1. 9%l 1.9
HEHT [EE 3 2 Bihv R OGE SR Bt
1 BN o B2 A MK —F 23p 32 | —
2 LR oM 50 | L1|#F 31 50 —| —
RSO RERW
1 FREEIRG R o B T —R 1 2000 | —
2 LECBUt o HbR 50 | L1|F 20/ 306 7.8%0 7.9
EFRLIS o M 50 | 1.1 [t 8. O 13Em L9t 1.9




